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18)

8(5 + 2) = 8(5) + 8(2)

5(4 - 3 + 2) = 5(4) - 5(3) + 5(2)

9(C + D) = 9(C) + 9(D)

5(2C + 4D) = 5 (2C) + 5(4D)

(X + Y +4X) = 3X) + 3(Y) + 3(4X)

203X +2Y+Y) =
(-2H3X) + (-2)(2Y) + (-2)}(Y)

8X + 12Y = 4(2X + 3Y)
TX-21Y =7(-X - 3Y) or -7(X + 3Y)
18A + 248 = 6(3A + 4B)

B}h 10 =16
2(4X + 5) = 2(8)

6A+3=15
3(2A + 1) = 3(5)

BA +10=20
2(4A + 5) = 2(10)

BX+32= &0

8(X + 4) = B(5)
X+d4d=5 XM=1

18Y + 27 = 45
N2Y + 3) =9(5)
2?+3=5.
NX=2 Y=1

I5X-1045X=25

53X -2 + X) =5(5)
4X=7, X=134

9C-6-12C =18
%$-2-4C1=3{ﬂ)
226, =8 C=-8

14M - 42 + 56M = 28
14(M - 3 + 4M) = 14(2)
S5M-3=2

S5M=5 M=1

6A-16-4A =20
2(3A-8-2A)=2(10)
A-8=10, A=18
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A+ B+3)= 4A + 4B + 12
S(X-Y+4642Z)=5X-5Y+304+52
320-44+3T4+7)= 6Q-12+ 9T + 21
22X + 3Y -5) =4X +6Y-10

15Y + 30X =10, 5(3Y + 6X) =5(2)
12Q + 6Y =15, 3(4Q + 2Y) = 3(5)
24Q + 18Y =30, 6(4Q + 3Y) = 6(5)
36A- 148 =10, 2(18A- 7B) = 2(5)
3*9@ “+12]
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4 < 5

4X-16=24, 4(X-4)=4(6)

X-4mB, X=10

30-42Y =18, 6(5-7Y)=6(3)
$-7¥=3, Y=2/7

24 + 56 = 16Q, 8(-3+7) = 8(2Q)
42Q, Q=2

36 = 72A + 45, 9(-4) = 9(BA + 5)
“4=28A+ 5 A=-11

LCM = 100

100{.2X) - 100(.03) = 100(.97)
20X - 3= 97
20X=100, X=5

3,4=22x2,6=2x3,5%0LCM=2x2x3=12

a3 b0 3o a5
94+4Q =10,

LCM = 100

1;‘3&-.1&] + 100(.8A) = 100(.12)
. +B0A =12
10A=12, A=120r11/5
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1) 3(A-B-2)= 3A-3B-6

2) S5(3A-942A)= 15A-454 10A
J) OX+3)=QX + Q3, or QX +30Q
4 {‘A-B+2C)=A+B-2C

5) 10X -25Y =40, 5(2X-5Y)=5(8)
6) 24A + 12B = 36, ' '
7) -14Q-21D = -42,

12(2A + B) = 12(3)
-7(2Q + 3D) = -7(6)
8) X +4XY=7X, X(3+4Y)=X(7)

9) 22X +33 =44, IIéEK-rG}-II(d}
2X+3=4, X=1

10) 7Q-15=9-5Q, 7Q+5Q =9+ 15
12Q0=24, Q=2

10(3Y - 1) = 10(1)
A¥=2, Y=2/3

11) 30Y -10= 10,
JY-1=1,

12) 56B - 49 =28, 7(BB-7) =74
‘ 8B-7=4, B-E:‘I‘E. B?-)IS![B]

13) LCM = 100
14) 100(.3X) - 100(1.2) = 100(.34)
] ﬁ* 120 =34 N
30X =154, X =513 or52/15

15) 4=2x2,6=2x3,10=2x5
OlCM=2x2x3x5 =60
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A5+ 10R =42, 10R =87
R=8.7 or ﬂ?ﬂﬂi
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15}-1—.1{_“} = 25 = 25%
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